E 0 & AFHE B M A

20148 & =04 LBHSIH Jt=SRAMAR
SH:JIESMETA
Bu: JiEge U SN2 oEBe
ool JIEFYY Yo (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
AU AT A 11,938,132 12,587,531 A 649,399
= 2,136,244
J| 5,679
< 9,738,339
£ 57,870
IIEY L NS HFBL 3,566,862 4,589,049 A 1,022,187
= 1,288,005
J| 5,679
< 2,267,088
£ 6,000
hEFEY g 467,107 743,764 £276,657
= 205,251
< 261,856
dgd HA 293,732 300, 389 26,657
= 190,251
< 103,481
207 A RO 293,732 300, 389 26,657
= 190,251
< 103,481
03 Al & 11HI 293,732 300, 389 A6,657
O« Zsig(prD) B 7,173
= 6,273
< 900
OZ8 detol it d& 86,400
= 43,200
< 43,200
OAMs 22 15,000
= 7,500
< 7,500
O E=4ctd MRT 624
= 541
< 83
O E=24etH Rose-Bengal 30,960
= 23,760
< 7,200
Ot o 434
= 259
< 175
OZtiel Hetol it 1,841
= 1,788
< 53
O Diol2SctE0rE o 147,900
= 103,530
< 44,370
OxE==g 3,400
= 3,400
P 53,000 53,000 0
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SA: IEAMATL
Hu: JlEge U S42 oFBe
ool ISAMTUAY S8 ¥ S8 X CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
204 MR F Y| 45,600 45,600 0
03 SHZRFHI 45,600 45,600 0
ot asl 45,600
LASXRA 2 80,000 70,000 10,000
= 40,000
S 40,000
101 Q124 H] 80,000 70,000 10,000
= 40,000
=) 40,000
04 D12t 22 EE = 80,000 70,000 10,000
Oogd=Exd 80,000
= 40,000
=) 40,000
SSTYHF=2A 2124 220,112 203,312 16,800
301 gt d= 220,112 203,312 16,800
08 SAUAZRRIZY= 220,112 203,312 16,800
OZSSLIodA 2SS S 168,000
Oosigz2esd 16.800
Ooxzuz2=e+¢ 35,312
FAMEME S 133,300 287,524 N 154,224
101 1Al 3,000 3,000 0
04 JI2ZtHZ22 s+ 3,000 3,000 0
OFABZ 2L 3,000
201 LEt2E | 94,000 94,000 0
02 2324l 94,000 94,000 0
OXgs=Ab s 94,000
401 Al HI K 201 I 24,300 157,124 N 132,824
01 A& HI 24,300 156,000 A 131,700
OXtAX BAZA 4,300
OARA 21228 B A 20,000
405 XtatE SHI 12,000 33,400 A 21,400
01 It ESH SHI 12,000 33,400 A 21,400
O 0AAIRE & & It3 10,000
OgdZaE CXE Stk 2,000
oHAMSH 2l 938,885 1,640,994 AT702,109
= 354,530
< 584,355
oHeldagy &lc 397,885 298,994 98,891
= 129,530
< 268,355
201 et 164,000 112,000 52,000




SN IESMHRA
Hu: gl U M2 oEpe
Sl oAy 2e (EERED
SA-EB .Y (BH) - ABAY - B2 O At 0t San H D2
= 30,000
= 134,000
01 AL 22l H] 24,000 22,000 2,000
OQIZR0UT A&A Ha Xl 12,000
OZ=Z S H = (Al, FMD) 10,000
OMENAAS oY S 2,000
02 2229l 140,000 90,000 50,000
OQZ 20X AAAIE S22l 60,000
= 30,000
= 30,000
OQZZ0R HAAIE FHIIQ2 80,000
206 T 2| 10,000 10,000 0
01 HEH 10,000 10,000 0
OFHMY L Al ASHE 10,000
207 o1 I 2tH] 223,885 176,994 46,891
2 99,530
[ 124,355
03 Al& & ] 223,885 176,994 46,891
OXRQZ2AUX 0l 155,518
=2 77,759
< 77,759
OFHS =z 1,694
= 1,694
OYXQMAI 2E ALY 9,330
= 8,734
[ 59
oHxiEy oz 11,269
= 11,269
OEENES=EN 74
= 74
0138 AUSE (U=, &5t S) 3,000
OANB DAY 3,000
OFHS UXHE ARZ Y 40,000
HelMgy mc s 541,000 1,342,000 801,000
= 225,000
< 316,000
401 Al HI L 2T H 90,000 1,000,000 910,000
01 Al&HI 90,000 982,000 892,000
OBSL-3(QIZ 20 X}) AEA 22 BA 90,000
405 RHAFHE S H 451,000 342,000 109,000
= 225,000
[ 226,000
01 Hat LS ZF =) 450,000 341,000 109,000
OReal-time PCR system 120,000




2N IEIMATL
HE: JlEge U S42 oFEBe
ool sHelEelY e CER-ED
x 5 - 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
= 60,000
< 60,000
OO0l 2 2d0lE mEg A" 100,000
= 50,000
< 50,000
ONsSEH&HIGSZADI 60,000
=2 30,000
< 30,000
O1nASIZEZII 20,000
=2 10,000
< 10,000
OEEsHAZE| 150,000
= 75,000
< 75,000
02 = A=l 1,000 1,000 0
OdZ ¥ WA 7 1,000
= FY AstR AL 246,874 251,700 AN4,826
= 101,074
= 145,800
IFI=ZE I A 93,574 107,460 A 13,886
2 56,074
< 37,500
207 A RO H| 93,574 107,460 A 13,886
= 56,074
< 37,500
03 A& &2l 93,574 107,460 A 13,886
OJNEEY ZLIHEY HA 75,000
= 37,500
< 37,500
OJN=EdAAN & d42F 18,458
= 18,458
OZMN 22 116
= 116
oist X Ab BHOH 153,300 144,240 9,060
2 45,000
< 108,300
201 Let249] 21,800 19,800 2,000
01 AL 2r2l | 11,800 9,800 2,000
OostZAIA3 =2 S 1,800
OJ=&2Y FEXN s 10,000
02 BB2YH| 10,000 10,000 0
OFEYAHEH RA222H S 10,000
206 M= Hl 3,000 1,440 1,560
01 =8l 3,000 1,440 1,560
OdEgses 7¢ & 22 3,000
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Hl w

A 3,230

759,000

759,000

759,000

87,759

18,000

18,000

18,000

H3r
Wikd
RIS

4,230
1,000

31,000

31,000

31,000

447,528

42,000

42,000

42,000

0l &t o

17,340

2,500

1

125

6,900
3,000

1,000
1,000
1,000

790,000

fir

395,000

H

395,000
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fir
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H

395,000
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N33 .2 (3H) - HEAMY - BES Ol A o4 %‘E_i Hws2

O&E A A ZoHAIAE 100,000
= 50,000
= 50,000
OXNYg == 40,000
2 20,000
T 20,000
O&E A LM 20,000
2 10,000
& 10,000
OGC-FID 70,000
= 35,000
T 35,000

F9o U FAME M AL(XD) 2,210,243 2,106,324 103,919
2 783,149
T 1,375,224
£ 51,870

EMEY &9 U HHIA(XA) 1,421,928 1,234,221 187,707
2 681,649
T 691,909
£ 48,370

dEyg A& 594,228 622,821 A 28,593
2 372,649
< 173,209
£ 48,370

207 A I | 594,228 622,821 A 28,593
2 372,649
< 173,209
£ 48,370

03 AlE & 2 Y| 594,228 622,821 A 28,593
Ox ZY(PPD) A A 52,443
2 42,517
T 6,100
£ 3,826
OZs Aatol Xt A& 173,440
2 79,200
T 79,200
£ 15,040
OAtEs 28 22X 48,000
2 22,500
T 22,500
£ 3,000
O E24et MRT 5,424
2 4,051
T 617
£ 756
O£ E24el Rose-Bengal 85,699
= 60,093
T 18,210
£ 7,396

«©




oMol
Ego 9 SN2 GEBE(XL)
EMGY 9 9 HYHIAN(KA) (&2 &)
M- B8-S (3H) - NEAY - BAS ol &k o8 ﬁlf& HD=2
OFuely Ho 1,071
= 629
= 425
2 17
OZale A0l X 4,014
- 3,832
& 112
£ 70
OHXNLLHAI ZEAE 17,325
= 15,340
= 1,045
£ 940
OJI=ZE(YX)2LIEHE HA 105,000
- 45,000
& 45,000
£ 15,000
OJI=Ed & 894823 98,812
= 96,487
£ 2,325
(OES=F-r-y— 3,000
= 3,000
IsdEgu ey & AXREH 22 618,000 405,000 213,000
- 309,000
== 309,000
405 Ko SHI 618,000 405,000 213,000
- 309,000
< 309,000
01 XAt 2 Z F S| 618,000 405,000 213,000
OZXXIMMII(OFAH, 2F) 44,000
= 22,000
o= 22,000
QELISAXIS SHAI A E (OFAH, & &) 300,000
= 150,000
== 150,000
OB 0l ZAAE(OFAH) 34,000
= 17,000
o= 17,000
OZ0I0l X 24 & Xl (EfQH) 25,000
= 12,500
< 12,500
OO0 AZ2ZUO0IERNSEFTAIAE (EfO) 50,000
- 25,000
o= 25,000
ODSHUEAAEC|II(EHLH) 25,000
= 12,500
= 12,500
Osipt== XX (ZE,2F) 80,000
= 40,000
o= 40,000
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SN bESIMA A
HE: OIS U S42 AFBR(XD)
tel: S42 ™A B2 (XA) (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
207 Ao H| 101,315 101,315 0
< 97,815
£ 3,500
03 Al & 12l 101,315 101,315 0
OEsdA 24,880
OJ7dA 16,800
OsgILH 6,000
= 4,500
g 1,500
Oalss dFISEAAM 16,500
OAlsZE 0IMESHA 31,600
OAZet& Al 5,535
< 3,535
£ 2,000
=M EMAMNY 4 E 2E2H XNHE 658,000 634,788 23,212
= 90,000
< 568,000
HASLTA 29 180,000 160,000 20,000
= 90,000
= 90,000
101 1A bl 180,000 160,000 20,000
= 90,000
< 90,000
04 JIZHHZ2Z2XNESE = 180,000 160,000 20,000
grot g X 2 180,000
= 90,000
< 90,000
ENEE L S 478,000 474,788 3,212
201 LBH2E| 255,000 215,000 40,000
01 At 22l 40,000 0 40,000
OOtA Xl EAMLUE 40,000
02 =224l 215,000 215,000 0
oozl 50,000
OAl & &l Xl 45,000
Oxt& =Xl 100,000
OZHl & Ol AtHIE(0tat) 20,000
- AEH Ol dEXIHI2E 7,300
-E==ZH 285 XY 9.5&8 14 2,700
-JIEt &EHl Ol8&XIdl 205 10,000
401 AIEHIZ 28I 213,000 194,000 19,000
01 A& tI 213,000 194,000 19,000
OHl&UIIA & HEAANAY X (2F) 150,000
OBAN HI|,SAAIE ST AH(EHCH) 21,000
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292,069
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H3r
Wikd
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65,788
65,788

5,892,158

5,356,078

5,356,078

5,191,018

4,681,884
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15,000

5,000
12,000
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